Rochester City School District


General Physics Reference Tables

	List of Physical Constants

	Name
	Symbol
	Value

	Acceleration due to gravity
	g
	        9.81 m/s2

	Speed of light in a vacuum
	c
	        3.00 x 108 m/s

	Speed of sound in air at STP
	
	        3.31 x 102 m/s

	1 Elementary Charge
	e
	        1.60 x 10-19 C

	Rest mass of the electron
	me
	        9.11 x 10-31 kg

	Rest mass of the proton
	mp
	        1.67 x 10-27 kg

	Rest mass of the neutron
	mn
	        1.67 x 10-27 kg

	
	
	


Waves

v = f λ

T = 
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f = frequency

T = period

v = velocity

λ = wavelength
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	Quarks

	Name

Symbol

Charge
	up

u

+⅔ e
	charm

c

+⅔ e
	top
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	down
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Modern Physics

E = mc2
	Leptons

	Electron

e

-1 e
	muon

μ

-1 e
	tau

τ

-1 e

	electron 

neutrino

νe

0
	muon 

neutrino

νμ
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0


Mechanics & Energy
V = 
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a = 
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d = vit  +  ½at2
F = ma

Fg = mg

p = mv

pbefore = pafter
Fs = kx

Fc = 
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∆PE = mgh 
PEs = ½kx2 

KE = ½ mv2
W = Fd

W = Pt

a = acceleration

d = displacement/distance
Emechanical = mechanical energy

F = force

Fc = centripetal force

Fs = force on a spring

g = acceleration due to gravity

h = height

k = spring constant

KE = kinetic energy

m = mass

p = momentum

P = power

PE = potential energy

PEs = potential energy stored in a spring

r = radius

t = time interval

v = velocity/speed
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 = average velocity

Vf = final velocity

vi = initial velocity

w = weight/force due to gravity

W = work

x = change in spring length from equilibrium

∆ = change

Electricity 

W = Vq
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V = IR

P = VI

E = VIt

E = Electrical energy

I = current

P = electrical power

q = charge

R = resistance

Req = equivalent resistance

t = time
V = potential difference

W = work

∆ = change

Series Circuits




     Parallel Circuits
I  = I1  =  I2  =  I3  =  . . . 



     I  =    I1  +  I2  +  I3  +  . . . 


V = V1 +  V2 +  V3 + . . .



     V  =  V1  =  V2  =  V3 = . . .


Req = R1 +  R2  +  R3  + . . . 
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